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TA dET | YxE (219 3 A 438 IFSPN HHY =
SN GET | YuE (219 4 A 284 CIVSIN| HHY &
FeA dET | YEE 219 5 A 68 B A| HHY =
SN FdET | YRS (219 6 A 320 CIVSIN| HHY &
FRA HET | YEE 219 7 A 905 B A| HHY =
oA dET| 2xS|219| 8 "l 385 S A HHY &
SeA g | 2EE (2201 O A 1,885 B A| HHY =




SA GET | Yus (2201 1 |2 150 B A| BHY &
Al e | Yus (2201 2 |EE 309 CIVSIN| HHY &
SeA dET | 2EE (220 3 A 25 B A| BHY &
SelA dER | 2xE (220 4 Z 131 I¥SPN| CIPSE=S
SA e8| Yus (2201 5 |2 160 B A| BHY &
SA PET| Y25 (2201 6 |[FA 32 B A| CIESE=
TN FdET | PSS (2201 7 |7 129 B A| BHY &
SA YET| YEE (220 8 |FA 45 CIVSIN| CIESES
TN GdsT | YEE (2201 9 |7 211 B A CIESES
SeA YET| YES (2201 10 |FA 345 CIVSIN| CIESES
TN dsT | Yxs (2201 11 |7 9 B A CIESES
TN 5T | Yus (220 12 |7 1 CIVSIN| CIESES
oA JET| Y5220 13 |[7A 56 S A| CIESES
TN GdET | Yus (220 14 |7 114 CIVSIN| CIESES
SoA dET | YxE (2201 15 |E= 13 B A CIESES
oA dET | YxE (220 16 |E2 6 CIVSIN| CIESES
SEA YET | YES (220 17 [E2 20 CIVSIN| CIESES
oA e | 2xE (2201 18 | A 17 IPSPN CIESES
oA FEF | TxE (220 19 7.~_1 966 SHAA| CIFSES
SEA YET | YES |234] 2 [EE 5 IPSPN CIESES
TA IdEF | 2EE 234 18 |E= 8,474 S A IpSES
S s | Yus (234 32 | A 8 IPSPN CIESES
ToA dET | YEE (234 51 |E2 18 CIVSIN| CIESES
S dET | Yus (234 52 | A 161 IPSPN CIESES
ToA dET | YEE (234 60 |2 6 B A| CIESES
SA YET | YxS |234| 61 [EE 94 EIVSIN| HHY =
TA HEF | UEE 234 62 |E=E 155 S A CIpSES
oA dET | UEE (234 63 |EE 62 IFSPN HHY =
TA IdET| 2EE 234 64 Z 424 S A CIpSES
SA HET| US| 669 2 |FA 572 IFSPN HHY =
TRA YET | YEE (669 3 [EE 312 B A CIESES
TN e | YuE (670 2 |7 347 IFSPN HHY =
SA YET| YEE | 670 4 |FA 184 B A CIESES
TA dE7 | Yxs (670 6 A 76 IFSPN HHY =
TN HdE7| YxEE | 6701 8 |[+A 6 B A CIESE=S
SN e8| Yus (670 10 | 75 B A| HHY =
A gds7 | Yus (671 O A 4,362 CIVSIN| HHY &
SA FdET | YEE (671 2 |EE 82 B A| HHY =
TeA YT | YEE 671 3 [EE 39 CIVSIN| HHY &
SA FdET | YEE (671 4 |EE 191 B A| HHY =




SN FET| US| 671 5 A 213 B A| CIESES
SN FAEFR | UEE 671 6 Z 2 SHAIA| BN &
AN JET| US| 671 7 |EE 614 B A| CIESES
A HET| US| 671 8 |E2 81 CIVSIN| CIESE=
SUA FET | YEE (672 2 |EE 38 B A| CIESES
SN dET| US| 672 3 |[EE 75 CIVSIN| CIESE=
SN JET| US| 672 A 52 B A| CIESES
TN HET| YRS | 672 —yh 267 CIVSIN| CIESE=
AN JET| US| 672 7 339 B A CIESES
TN HET| YRS | 672 CH 300 B A| CIESE=
AN JET| US| 672 CH 26 B A CIESES
TN HET| YRS | 672 A 1 B A| CIESE=
SN JET| US| 672 A 22 B A CIESES
TN HET| YRS | 672 —yh 816 CIVSIN| CIESE=
AN JET| US| 672 7 2 B A CIESES
TN HET| YRS | 672 =2 30 B A| CIESE=
oA HdER | US| 672 A 264 ISP CIPSES
A HET| YRS | 672 7 62 B A CIESE=
SN JET| US| 672 7 1 CIVSIN| CIESES
A HET| YRS | 672 A 29 B A CIESE=
oA HdER | UEE | 672 A 8 EIPSPN| CIPSES
TN HET| YRS | 672 A 65 B A CIESE=
SN JET| YRS | 672 =2 99 CIVSIN| CIESES
A HET| YRS | 672 L= 165 B A CIESE=
SN JET| YRS | 672 =2 30 B A| CIESES
SN HET| US| 672 A 1 B A HHY =
TN HET| US| 672 A 217 B A CIESES
TN FAET| YRS (672 -k 133 B A HHY =
SN HET| US| 672 A 83 B A CIESES
SN HET| US| 672 A 2 B A HHY =
A HET| US| 675 =1 32 B A CIESES
SN HET| US| 675 -k 1 B A HHY =
A HET| US| 675 =1 29 B A CIESES
SN HET| US| 675 -k 31 B A HHY =
A HET| US| 675 A 81 B A CIESE=S
SN JET| US| 676 oH 681 B A| HHY =
SN HET| US| 676 CH 886 B A| CIESE=S
SN JET| US| 676 L= 125 B A| CIRSES
SN HET| US| 676 = 103 B A CIESE=S
SN JET| US| 676 A 61 B A| HHY =




oA dET | wnE Z EVEN e
oA AET| gz Ct EVEN e
+2A AET | wmE Ch EVEN e
+oAl AET| gz =] SHAA| e
oA AET | wmE Ch EVEN e
oA AET | gmE ch EVEN e
oA dET | wmE ch EVEN e
oA AET| gz ch BV e
+oA AET | wmE 2 1A A| e
oA dET| gz 2 SHAA| e
+oA AET | wmE 2 SHAA| uhy =
oA dET| gz 2 SHAA| e
+oA AET | wmE 2 SHAA| uhy =
oA dET | g 2 SHAA| e
+oA AET | wmE 2 SHAA| uhy =
oA dET | wmE 2 1A A| bh =




